VCM-SF / CG

Variable Displacement Vane Pump With Cooling Circulation Pump

SERE A RITANIBIRR

SHEESC SR SYMBOL

‘BU5\5%H%/MODEL CODE ;~*
VCM-SF -20 - X -4CG- X
-\_— ERETIRIS Design No.
20: 12, 20L 20: 12, 20L
30: 30, 40L 30: 30, 40L
AAEIRRRY Cooling circulation pump type
4CG (4L/min) 4CG (4L/min)
8CG (8L/min) 8CG (8L/min)
BREEE Pressure ranges
A: 20 kgf/cm? C: 55 kgf/cm?
B: 35 kgf/cm? D: 70 kgf/cm?
HE Displacement
121, 20L, 30L, 40L 12L, 20L, 30L, 40L
BERRERY Variable displacement vane pump series
EEmAFIE: Characteristic:

1. B—E_EREFERST ) BEBE8ESRADA)  1.Unique and patented attachment design, it reduces overall
BIRERE » BEF/)\  SRFEIS - HAlERR length and dimension after attached to a variable displacement
IRECHFEAREERE - @EESaIRAREEAfE vane pump, the entire combination became more compact. This

» AERBIR - BRGEERIFFEHRAIINEE cooling circulation pump intake oil from oil reservoir, deliver to
cooling system. It effectively reduced oil temperature under
2. BEEIRRANERIRE » GIHBOREHE continuous process of circulation.

3kgficm » BMRETEAIRRER -
2.Cooling circulation pump has build-in pressure setting,
3. IEERER  BESENDAE  BRMELLEH  maintaining pressure at 3 kg/cm’, protect pipe line of cooling
JBANEIEH (DRAIN)SEINAHES - system.

4, HFE/EUE ) ENRZR BV RESHEE  [RER  3.Rapid testes proven, to combine with proper cooler, it performed
Ko better cooling efficiency then cooling variable vane pump's drain
by far.

4 By reducing size of reservoir, it could save space and volume of
hydraulic oil. At the end, it saved cost.



(@.7/D,

VCM-SF / CG

BRI

Variable Displacement Vane Pump With Cooling Circulation Pump

mABIRZR

B TECHNICAL DATA o~

iy REE (BEERH) [LigAFEE S =) FHOEE REE B2
MODEL DELIVERY ATNOLOAD | PRESSURE ADJ. | SHAFT SPEED MAX. WEIGHT
(Limin) RANGE RANGE (rpm) PRESSURE (k)
1800rpm 1500rpm (kgf/em?) EMAX| BRIEMIN. (kgficm?)
SF-12A 10-20 20 5.0
SF-12B 15-35 35 5.0
SF-12C 12 18 30-55 1800 600 55 5.0
SF-12D 50-70 70 5.0
SF-20A 10-20 20 5.0
SF-20B 15-35 35 510
SF-20C - i 30-55 L o 55 5.0
SF-20D 50-70 70 5.0
SF-30A 101-20 20 9.0
SF-30B 15-35 35 9.0
SF-30C o <A 30-55 Ll 55 9.0
SF-30D 50-70 70 9.0
SF-40A 10-20 20 9.0
SF-40B 15-35 35 9.0
SF-40C % 93 30-55 L 55 9.0
SF-40D 50-70 70 9.0
BANEERE Cooling circulation pump
i b FHE (BREER) BEREEE BETOEE
MODEL DELIVERY AT NO LOAD PRESSURE ADJ. SHAFT SPEED
(L/min) RANGE RANGE (rpm)
1800rpm 1500rpm (kgflcm?) EEMAX. S=EMIN,
4CG 4 3 3 1800 800
8CG 8 6 3 1800 800
YE#EiH#%/ PERFORMANCE CURVES bkt
s
e o e ARG Fpmio
VCM-SF-20 % -4CG-20: E4EE# Continuous operating 30
0 - 30
HAIEL R Testing condition % o 55
12{EFE’H Hydraulic oil: 1ISO VG32 Hj‘?zo g8
F5iEEIR Speed: 1800 rpm E e ©H
HFEZEE Capacity of tank: 30L 32 | i ~§ % ;g :g:z:;i
==& Ambient Temperature: 30°C £%10 oy 210 2
- : = kg.’ 5 ﬁ 35 kglem”
glem
0 2 l 4 | 6 0 2 4 6
RS Time (hr) B Time (hr)
VCM-SF-303% -4CG-30: oo s i
BIE BT Testing condition B2 (ECYLINDER (@20x@40x250mm)
12 /EFA3H Hydraulic oil: 1SO VG32 SEHE# Continuous operating g e
. 30
HiE{B1R Speed: 1800 rpm - .
N , - - co |
ET{:‘&% F)apacny of tank: 40[: s %20 58, ——
Z;m Ambient Temperature: 30°C nqc‘_; ff E ﬁ : w0 p—
g % 70 kg/em’ B f.% / 35 kglem’
ggw 50 kgfom® ng o
8 [ s
35 kg.fcm?‘
0 2 4 6 0 2 4 6
BERS Time (hr) 5 Time (hr)

Page 10



VCM-SF / CG

CM Variable Displacement Vane Pump With Cooling Circulation Pump
@ S EERRITAIBIRER

B VCM-SF-12:#-#%CG-20 B/ Unit : mm
B VCM-SF-20:%-#CG-20

E7#%

100 )
Pressure adjustment

26
BERRAHEOPT1/2

Drain|Port PT 1/4"
Vane pump Inlet

» EARAEOPT I8 DR
N Vane pump Outlet T
21
HEMBIERARO PT 1/4 BANBIREABO PT1/4 -

Cooling circulation pump Inlet Cooling circulation pump Outlet U N~ 1
(g H
0
3.18 +0.025
™| 2
( @19.05 @ c e [
1 )

2

S)
7/

66

3]

28255304
14302

:-}: © | W anEa | >
N —
N gg | u_!j?u_ 212.7 8018
I
UL Tles
32 45 36.5
150
B \/CM-SF-303%-%CG-30 Bf5z/Unit : mm
B VCM-SF-40:%-3%CG-30
B
Pressure adjustment
D L
Drain Port PT| 1/4" DR
ERREAMOPT 3/4 BERFEAMBOPT 1/2 €+}
Vane pump Inlet el o Vane pump Outlet
0
OUT‘ 22 5'70‘8‘ = - 4.76+0.025
BAMBERAHO PT1/4 = 0 f,{ T ] T g §E
Cooling circulation pump Inlet SAMBIREARO PT1/4 = I & e 0
Cooling circulation pump Outlet 1 Q 219.05-0.021
Z=
225(| 4
36 /| 59 37
175

MERE

Qmax limiting

Page 11




VCM-SF / CG

Variable Displacement Vane Pump With Cooling Circulation Pump

BERE L RITANIBRIRR

REE SHER A HE
NUMBER DESCRIPTIOEN PARTS Q'ty
1 Fh2 Body 1

2 ®B= Back cover 1 B VCM-SF-12:#%-#CG-20
3 GES Cover 1 mVCM-SF-20:%-%CG-20
3.1 SRR REE Cooling circulation pump cover | 1
4 Ex Rotor 1
4.1 L Gerotor (inner rotor) 1
42 | Mgy Gerotor (outer rotor) 1
5 VIR Cam-ring 1
6 Bh Vane 13
7 2 Key 1
7.1 | A Pin 1
8 LR Front plate 1
9 TAlR Rear plate 1
10 S Spring 1
10.1 | B3 Spring 1
11 e Socket screw 1
1.1 | 8887 Screw 1
12 URIE Screw nut 1
13 EE Piston 1
14 EE Piston 1
15 EE Plug 1
16 R Spring seat 1
17 A7 EigEE M6x20 Hexagon head screw 2
18 A7 EiRE M8x25 Hexagon head screw 2
19 A7 AER M8x30 Hexagon head screw 4
20 MEEMEIREE | M10x35 Hexagon bolt 1
21 T EIRIE M10x8Hx17 | hexagon bolt 1
22 | EEH 4x8 Pin 5
23 ZINEE 10x8.5x5 Bushing 2
24 CEHIR R-32 C-ring 1
25 OREFIR P12 O-ring 2
26 ORHIIR 12x2 O-ring 1
27 OBHIR P20 O-ring 1
28 ORIR S26 O-ring 1
29 ORHIIR S45 O-ring 2
30 ORUHIR S71 O-ring 1
31 SHE] TCV163210 | Seal 1
32 g DD1615 Bushing 1
33 #hH DD1620 Bushing 1
34 IR 8mm Ball 1

Page 12



VCM-SF / CG

Variable Displacement Vane Pump With Cooling Circulation Pump

SERE A RITANIBIRR

R EHEHE Fizl i e AR EHERE g HE
NUMBER DESCRIPTIOEN PARTS Q'ty NUMBER DESCRIPTIOEN PARTS Q'ty
1 N Body 1 34 ORIR P20 O-ring 2
2 BE Back cover 1 35 OEUIIR sS40 O-ring 1
3 [HES Cover 1 36 OEIR S45 O-ring 1
3.1 SAERREE Cooling circulation 1 37 ORUHIR S60 0O-ring 1

pump cover 38 ORUHIR sS85 O-ring 1
4 | EN Rotor 1 39 ORUHIR TCV224211 O-ring 1
4.1 Mg+ Gerotor (inner rotor) 1 40 SHE DD2225 Seal 1
42 NFF Gerotor (outer rotor) 1 41 B3 8mm Bushing 2
5 CERIR Cam-ring 1 42 $HER Ball 1
6 =k Vane 13
7 i Key 1
7.1 ki) Pin 1
8 IR Front plate 1
9 TR Rear plate 1
10 E® Spring 1
10.1 | EE Spring 1
11 1881 Screw 1 mVCM-SF-30:#-%CG-30
11.1 | %87 Screw 1 B VCM-SF-403#-%CG-30
12 %2 Screw bolt 1
13 1F13 Screw bolt 1
14 EE Piston i
15 EE Piston 1
16 EEE Piston 1
17 EEE Piston 1
18 el Washer 1 @
19 | E= Plug 1 (3) "=t
20 iR M6x20 Spring seat 1 20 S
21 M7 EEE M8x25 Hexagon head screw | 4 (32) $_§f
22 S PRN=E] e M12x25 Hexagon head screw | 7 (13 f‘_’)
23 BB VAR | M12x8Hx1.25x17 | Hexagon bolt 1 (@9) -
24 T EIRIE M12x7Hx1.75.19 | hexagon bolt 1 : S
25 J AR M16x8Hx1.0x24 | Hexagon bolt 1
26 JVAEIRIE 10x8.5x5 hexagon bolt 1 (10 O
27 ZEIWEE 4x8 Bushing 2 =)
28 | wehish 48 Pin 2 @8 S @ ~
29 | BamE R-42 Pin 3 & @ 7
30 Cﬁ?ﬂ% P5 C-ri.ng 1 () pr S "
31 ORI 1B P12 O-ring 1 ] ()
32 | omHR 12x2 O-ring 1 \h&‘ Q
33 OEHIR P14 O-ring 1 5 7> ‘-"f‘\\‘{\‘

=) Z5 o
o ®, .
.‘g‘-g;‘ 0 @
O
"

® eORE

-




VCM-SF / CG

(Z ) Variable Displacement Vane Pump with Cooling Circulation Pump
S EREAHRNTAIBIRR

BRERA:

1

N o o s w

o

 MERAE: ARAEFRATHFIRE, BRBHRER GBRREE, RZBIRIEE, §

CBEOn: FERNEESALLEHNS R ERRIBRET OO
2.

TR BH: 70barlA T, 40°CH¥, $4E7%330-50cSt (1ISO VG 32)A7iR[EA
70barlA £, 40°CHF, $hE #350-70cSt (ISO VG 32)R)EEEH -

CRME RREBBLEETREAE T, EBERST0.3 kgflemBLT
. LIEmim: EEEBREK7815-60°C
CBRNECE: REFEWMVRIVGRERET0.05mmELT, BERE

MR EH B2 7] MRz SH 1B DLW B RS-0, 3bar kgficm?

%
i
i
L
[}

F5IU3H E%L@Pa

CB7RE: ABRNAZREMAMEEIEER, TBIHS
. RER: BFEERHNE TRTREBRDFE, UHIREBRRNZER, RERRARMEHRAS

ZREBHR, FFRRETEEHN I TEE100E

Handling:

1

9]

. The rotation of VCM-SM pump is clockwise when viewed from the shaft end.
2. The drain pipe is directly connected to the oil tank and the position must be below the level of oil.

3.

4. Pressure adjusting screw is turned clockwise to increase pressure and Counterclockwise to decrease

Keep the suction pressure within —0.3 kgf/cm? at the suction port.

pressure.

. Flow adjusting screw is turned clockwise to increase flow and counterclockwise to decrease flow.

. For proper alignment of pump and electric motor shaft, the eccentricity between them must be kept within

0.05mm and the eccentric angle error between them must be kept within 1°

. When pressure is under 70 kgf/cm? the viscosity of oil must be within 30-50 cSt, when pressure is over

70 kgf/cm? the viscosity of oil must be within 50-70 cSt, at the temperature of 40°c.

. When first time operation, the pump should be at no-load state-on delivery side and be repeated on and

off the electric motor a number of times to make sure the air have been bled out of the system.

Page 14



